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Seat No.: __________                                                Enrolment No._____________ 
   

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering Semester –VI Examination Dec. - 2011 

 

Subject code: 362901                         Date: 05/12/2011 

Subject Name: Advance Knitting Technology 

Time:  02.30 pm – 05.00 pm                                Total Marks: 70 
Instructions: 

1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version is considered Authentic. 

 

Q.1 (a) Explain with neat sketches the loop formation by bearded needle in 

warp knitting. 

08 

 (b) Draw Rib structure of weft knitting and explain its characteristics. 06 

Q.2 (a) Explain Knit, Tuck, and Miss stitches in weft knitting. 07 

 (b) Explain the characteristics of yarns used for knitting. 07 

  OR  

 (b) Explain the yarn preparation ( warping ) for warp knitting. 07 

Q.3 (a) Explain weft knitted fabric defects. 06 

 (b) Explain half cardigan and full cardigan structures. 08 

  OR  

Q.3 (a) Explain the factors affecting stitch length and explain how will you 

control them.  

08 

 (b) Draw the Gaberdine structure of weft knitting . 06 

Q.4 (a) Explain, in detail, the ornamentation of double jersey  structures. 06 

 (b) Draw single pique structure and punto-de-roma structure. 08 

  OR  

Q. 4 (a) Explain the needle selection for weft knitting. 06 

 (b) Draw the guide bar lapping movements for the following warp 

knitted structures and also draw the sequence of chain links for these 

designs. 

(1) satin  (2) Loop raised. 

08 

Q.5 (a) Calculate the production in square meter per day of a circular weft 

knitting m/c. and G.S.M. (grams per square meter) from the 

following particulars  

1) No.of feeders: 56   2) Cy. diameter: 30 inches    3) M/c. R.P.M.: 

28 

4) Efficiency:90%   5)Shrinkage: 36 %, 6) courses per inch : 42 

7) count of yarn : 2/40 Ne   (8) Stitch length : 0.2 cm 

  

08 

 (b) Explain with sketch the needle bar motion of  warp knitting m/c. 06 

  OR  

Q.5 (a) Explain the following terms for knitting 

(1) Tightness factor (2) Needle loop and sinker loop (3) Gauge of 

knitting m/c. (4) the rack. 

08 

 (b) Draw guide bar movement for Tulle structure. 06 
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�.:1 અ) વોપ� િનટ�ગ મા ંબડ�ડ નીડલ �ારા થ� �પૂ ફોમ શન આ#િત દોર& સમ(વોુ .            (8) 

      બ)વે-ટ િનટ�ગ . ં/રબ 012ચર દોરો અને તેના લ4ણો  સમ(વોુ .                     (6) 

 �.2 અ) વે-ટ િનટ�ગ મા ંબનતા િનટ, ટક અને મીસ 0ટ&ચ િવષે સમ;તીુ  આપો..           (7)     

      બ) િનટ�ગ માટ= વપરાતા યાન� ના ?ણધમA િવષે  િવગતવાર સમ(વોુ .                        (7) 

                                                   અથવા 

     બ) વોપ� િનટ�ગ માટ= યાન� િ�પેર=શન ( વોપBગ /Cયા) િવષે િવગતવાર સમ(વો.        (7) 

�.3 અ)  વે-ટ િનટ=ડ ફEીક ની ખામીઓ િવષે િવગતવાર સમ(વો= ..                          (6) 

     બ)  હાફ કા/ડIગન અને Jલ કા/ડIગન 012ચર િવગતવાર સમ(વો                        (8) 

                               અથવા 

�.3 અ) K0ટચ લLMથ ને અસર કરતા પ/રબળો િવષે સમ(વો અને તે ક=વી ર&તે િનયOંણ મા     (8) 

         રાખશો તે સમ(વો. 

     બ)  વે-ટ િનટ�ગ . ંગેબ/ડIન 012ચર દોરો ુ .                                               (6)    

�.4 અ) ડબલ જસR 012ચરના Sશોભન િવષે િવગતે સમ(વોુ .                                 (6) 

     બ) િસUગલ િપક= 012ચર અને Vટંોુ -/ડ-રોમા 012ચર દોરો..                                   (8)  

                                     અથવા 

 �.4 અ) વે-ટ િનટ�ગ મા ંિનડલ િસલે2શન િવષે િવગતવાર સમ(વો.                           (6) 

      બ) નીચેના વોપ� િનટ=ડ 012ચર માટ=ની ગાઇડ બાર લેપ�ગ YવમLટ દોરો  અને તે માટ=ની   ુ (8)   

          ચેઈન [લUક િસ2વસં પણ દોરો.      

         (1) સા/ટન   (2) �પૂ ર=ઈ\ડ 

 �.5 અ) નીચેની િવગતો ઉપરથી સ_�લર િનટ�ગ મશીન . ંદ̀િનક ઉaપાુ ુ દન ચોરસ િમટર મા ં  (8)             

          શોધો  તથા કાપડ ના ંbાcસ પર 02વેર િમટર ની ગણતર& કરો. 

      (1) /ફડર ની સdંયા: 56        (2) સી[લડર ડાયા.: 30 fg  ્ (3) મશીન 0પીડ: 28 R.P.M. 

      (4) કાય�4મતા:90 % (5) સકંોચન: 36 % (6) કોસ� પર fચ : 42 

       7) Sતર નો kક ુ : 2/40 Ne     (8) K0ટચ લLથ: 0.2 સે.િમ. 
 

     (બ) 0વmછ આ#િત દોર& વોપ� િનટ�ગ મશીન ની િનડલ બાર મોશન સમ(વો.                (6) 

                                       અથવા 

 �.5 અ) િનટ�ગ ના િનચેના પદો િવષે oંકમા ંસમ(વોુ .                                            (8) 

          (1) ટાઈટનેશ ફ2ટર = (2) િનડલ �પૂ અને િસUકર �પૂ (3) િનટ�ગ મશીન નો ગેજ (4) ર=ક   

      (બ)  oલે 012ચુ ર માટ= ની ગાઈડ બાર YવમLટ દોરો                                           ુ (6) 
 

                                    *************                                                                                                                                
 


